Discovery 2 Module 1 Exam Picture descriptions

Refer to the exhibit. A host is having problems maintaining
Diagram depicts a screen capture of the command prompt after issuing a ping command

Lines of interest are:

Reply from 192.168.100.2: bytes=32 time=10ms TTL=246

Reply from 192.168.100.2: bytes=32 time=10ms TTL=246
Request timed out
Ping statistics for ….

Output omitted 

C:/>
Refer to the exhibit. Host A cannot connect
Diagram depicts a network of  6 routers connecting host A to Webserver on IP address 192.168.100.2. Host A connects to router A. Webserrver connects to router F. From A there are 2 paths to the webserver, through B–D-F or C-E-F

Router addresses are:

A=192.168.1.1/24

B=192.168.2.1/24
C=192.168.3.1/24
D=192.168.4.1/24
E=192.168.5.1/24
F=192.168.6.1/24
Host A executes a traceroute to the webserver IP address 192.168.100.2

Output of interest is:

1 <1ms <1ms <1ms 192.168.1.1

2 5ms 5ms 5ms 192.168.2.1

3 12ms 11ms 12ms 192.168.4.1

4 * * * Request timed out
5 * * * Request timed out

output omitted

30  * * * Request timed out
